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47. 6 ÷ 1.7 =    
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14.4 ÷ 1.5 =   
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Kari used 14.35 yards of orange ribbon to make bows for the dance.  If each bow required 0.35 yards of orange ribbon, how many bows did she make?

[image: C:\Users\cdagnan\Downloads\qrcode.36682352.png]


Michelle has $8 to buy school supplies.  She buys 3 notebooks that are $0.88 each.  She spends the remaining money buying pens that are $0.22 each.  If she has no money left over, how many pens did she buy?      


[image: C:\Users\cdagnan\Downloads\qrcode.36682362.png]









You go on a 10.22 mile hike after walking 2.7 miles for a rest.  How much further do you have to travel?     


[image: C:\Users\cdagnan\Downloads\qrcode.36682379.png]


The sum of two decimals is 231.64.  If one number is 98.3, then what is the other number?  

[image: C:\Users\cdagnan\Downloads\qrcode.36682386.png]


Cathy runs 1.67 miles and stops for a break. She then runs another .584 miles. How many total miles did Cathy run?
[image: C:\Users\Cathy\Downloads\qrcode.24981381.png]
[bookmark: _GoBack]Suzy is buying school supplies. She has $8. She buys 6 folder for $0.52 each. She wants to spend the remaining money on pencils, which are $0.21 each. How many pencils can she buy?
[image: C:\Users\Cathy\Downloads\qrcode.24981390.png]
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